8 7 I 6 5 ¢ 4 3 M 026 [ [ 1 !
:ﬂlls print and d aond the 't REVISIONS
CABLE SPECIALISTS: Gractosums ot oot reradahon. ECN [ SHT |ZONE| REV. DESCRIPTION DATE APPROVED
iormaniort cantatned, o e orims ot apeticony Hrom N/C | RELEASED 9/20/92/C ASSEF]
mitted by ELECTRONIC CABLE SPECIALISTS in writing Is ON P/L & F/D: ADDED ASSY -104
forbidden. A |ON P/Lt ITEM 8 P/N WAS DS |C ASSEF]
MS24693-C25 5/26/93p knuts
SN[ =T - -T-T-T-T7-1-T-T-T=-7 - [nassco6-331] sracer 28 ADDED ITEM 9 S EASSEF
NAS679A3 NUT, HEX (#10-32, STEEL) 27 7 |SEE EON 18 L 97 /YW SERRT
tf-r=-1=-1=-1=-1-1-1-=-1-1-1-1- t [ -32, DS IC ASSEF]
SELF LOCKING C |SEE ECN 543 11/12/93)V SIEBERT
1t | -|=-1-]-1~-|-1-1-1-1-1-=-1 - |useses1-F13 CLAMP 26 DS ASSEF]
D |SEE ECN 653 12/7793¥ SIEBRT
el -|-|-1-1-1=-1-1-1-1|-1-1- |anosorpioL WASHER #10 016 THK, STEEL) 25 CJH [C ASSEF]
E |SEE ECN 788 1/11/94|V SIEBERT
4 | - - =~-|-1-1-1-1-1-1]=-1]-1- |muse0426aD3-4| RIVET, SOLID €093 x 25 LG, ALUM) 23 G_|SEE ECN Z181 12/§a/94T ANTCZAK
1 ot _T -1 _1_71T_71_7T_ |o0OWKEY P/AN| RELAY, SWITCH 2 H |SEE ECN 2631 3/10/95|T MNTCZAK
402-167 SPDT 28 VDC J |'SEE ECN 2814 s/250e|T MNTCZAK
2 |- -|-1-1-1-1-1-|-1-1|-1- aN960-DIOL | WASHER #10 €016 THK, STEEL) 21 128 P/LL | ADBED ASTLs588 & 1
ALL| BS ADDED HOLD DOWN DIMENSIONS
2| -|-|-1-|-1-1-1-1-1]=1-1 - [NAS1096-3-24| SCREW, HEX HEAD | (#10-32 X 1.63 LONG STEEL) 20 323711 Al k |ARED WEIGHTS FOR -101/-108 ASSY'S| LJH s RpsSA
e 6/20/97
AL T T om0, | coes a acov sosn s B R e
2 o 1 7 <
ALt - -1-1-|-|-]-1-1-1-]-]-] stess-10a | TRAY ASSEMBLY, €063 AL ALLOY 6061 18 e o Tanot o psa Ed 10 NEW PORMAT
ol == - T T - -1 =1 -1 =1_-1_71 soore-108 | HOLD DOWN, FRONT 7 7128| o [P/LI L |ADDED LTEMS 18 THRU 28 ¢ /oarogMINDD S
THUMBSCREW A3 ADDED ACTUAL WT. -112=2.5 LBS.
A o - [ - [ wwrm | R VARG | caes e muov e o PEIE EEmErE
12020 1 |B8| M |ADDED NOTE 1t 00
I .
el - -|=-|=-|-1le2|-1-|-1-1-1-1 anoeonsL WASHER #6 €016 THK, STEEL) 15 | eL CHGD TTEM 22 GTY WaS 2 7
2| -|-|-|-{-la|-|-|-]|-]-]|-|m“sewosange | T HEX (#6-32, STEEL) 14
A 1 -] - -] =-]-11v 1] -1_-1-1]=1=1 10020cc-101 B%’-}ggghgﬁ“ €063 AL ALLOY 6061 13
-l ot - -] -] - -] - | sozes-w0e | TRAY ASSEMBLY, (063 AL ALLOY 6061 12
-l -l - - ==t ]~ =-]-1-1]-] 10454102 TRy, WELDING €063 AL ALLOY 6061) 1
4| -Ja|-|-|4|4a|4]|-|-]-1a]| - |MS24693-C25 | SCREW, FLAT HEAD #6-32 X .31 LONG 10
A il Mt M U B I e B el I B L S P Lo P (063 AL ALLOY 6061> 9
8|12/8 |12|12|8| 8|8 |12|8 |12]|8 | 8 |MS24693-C26 | SCREW, FLAT HEAD (#6-32 X .38 LONG) 8
. 10 |10 |- |- |16 {10 |10 10|10 |10 |10 [10 |10 | 10736-01 PLUG BUMPER (RUBBER) 7
Lt ==t |r v |11 {1 |1t |1 ]| to06-104 |DEFORMATION SEAL (SILICONE RUBBER) 6
A 1t |- |-t ]|t ]r 1|1 |1t |1 | 1002scc-01 METERING PLATE. | co40 AL ALLOY S0S2 DR 6061 5
_ - HOLD DOWN, FRONT
- - 2| - -|-]2a|-|2] -] -] soo7e-105 =D N, FR 4
HOLD DOWN, FRONT
2 - - - - - e
12, IDENTIFY WITH ECS P/N AND LOT#, 103447101 | INSERTION/EXTRACTION 3
PER EP210. 1|1 1 1 1 10018cC-106 | CORNECTOR FLATE (063 AL ALLOY 6061 2
NTIF R 1 _ _ i TRAY WELDING
'ID%%T INJMBVEIRT' HREQ/%Q{/&:-LANCDULLINS 1 S0079CC-124 ASSY, 4 MCU €063 AL ALLOY 6061 1
MANUFACTURING DATE PER ary REQ'D |aTY REQ'D [ OTY Ren'o| Ty Rea's |aty &eo'D jaTv REQ'D [aTY REWD oty mea'o Ty Reqo |ary rea'n]ary reo'n|arv reon|ory rece
SPECIFICATION 1170206 AS SHOWN /\
IN DETAIL A, -112 |-111 |-110 |-109 [~108 107 106 |-105|-104 |-103[-102| -101 | /9| cowoers merre. v R —
Ao\ cuT To €8 LG L Jp———— R
PART LIST
PART NUMBER FOR THIS ASSY IS 6026.
UNIVERSAL CONNECTOR CUT-OUT FOR ARINC 600 SIZE 1, 2 OR 3.
A MAXIMUM EXTENSION WHEN LRU IS SECURELY
FASTENED TD TRAY ASSEMBLY.
6. -DELETED - R e
S -DELETED- THIRD ANGLE PROJECTION e NA 75178 oo PSS N N NG e ELECTRONIC CABLE SPECIALISTS
4. DESIGNED TO MEET THE APPLICABLE REQUIREMENTS OF THE FOLLOVING: — ] =i AL | 57-6708 | ™ Tews o mME e e ALSKI|Svi8/92 Eg® PHONE: (414) 421-5300
A. ARINC 600-9: 4 MCU ; _ 109, -110 FINAL | 95-0308 G S %
B. RTCA/DO-160C ENV. CAT. [A3F21-BABXXXXXXXXXXXXXXXX | [0z s NG 33-0204 — CaoseEr o2t/ TRAY ASSY, 4 MCU
> "DELETED- CAD GENERATED DOCUMENT [ =1gs FINAL 1 93-0417 = CaraEr  Sreu/%e SHORT/LONG
A FINISH (CLEAR CHEM FILM PER MIL-C-5541, CLASS 3). ANY CHANGES TO THIS DOCUMENT  [=TOT, ~102, =103 Y prte [ - - _ ot
1, DIMENSIONS AND TOLERANCES PER ASME Y14.5M-1994, MUST BE SUBMITTED TO THE coneyasst war v | S0 weox/ma ows Pt vo_ | G ASSeE — , D |661 97|C / AI 6026
DESIGN/DRAFTING DEPARTMENT =101 = L7 lbs
NOTES: UNLESS OTHERWISE SPECIFIED FOR PROPER UPDATE - P —g— prem §§§:§ ‘E’,‘g F A WHITSON| §720/92[%x 172 o Jser 1 « 8

8 7 6 l 5 1 4 3 | 2 | 1



DWG NO. ;
8 7 6 > ¢ 3 6026 15 "M 1
.I’rrf,:r:\:rl'onm:’n the confidential pmpo:t':/d n"h'ELECT‘RéNI:: REVISIONS
CABLE SPECIALISTS. Dlsclosure of, and/or reproduction ZONE | REV. DESCRIPTION [ oae | aeProvED
imformation, contained. on Inte.print mat speciicaly pare. [ M [ SEE SHEET 1 ] [
mitted by ELECTRONIC CABLE SPECIALISTS In writing s
forbidden.
2X \ 2X
(5.010) (2.600) - - — - —— ‘M
|
-102 ——’
ASSY ONLY a
2X
¢5.010) (2.6000 - - - - 1l ASSEMBLY
— /
— L ——
2X
-101  —m—y 317 <20.06)
ASSY ONLY t
/o\ 1 015 ]A[B]
12.38
(TO FACE DOF CONNECTOR PLATE>
L’
o oo oj{o 00 o
o]
®

N

o 00 oUo 00 o

g

(ITEM 3 OR 4

\'&él I &S /
4 4

i n
Ed kg

Qo

3X PER SIDE
(7.25

[oX]

g&_

Ny O O

(103> -101 ASSY ONLY

(.96) -101 ASSY ONLY
(88> -102 ASSY ONLY

(88> -102 ASSY ONLY

THIRD ANGLE PROJECTION

CAD GENERATED DOCUMENT

ELECTRONIC CABLE SPECIALISTS
FRANKLIN, Wi 53132

ANY CHANGES TO THIS DOCUMENT | i‘fi _PHONE: &‘2 421-5300
NOTES: SEE SHEET 1 MUST BE SUBMITTED TO THE l -
DESIGN/DRAFTING DEPARTMENT D|166197C / A 6026
FOR PROPER UPDATE ]/ | [ser 2 « 8
8 6 5 | | 3

‘ 2

| 1






